ON ALLER
ON LAVER
ON JOUER
TU ETRE

ON ETRE

ON VENDRE
ON DORMIR
VOUS ETRE
TU PRENDRE
VOUS FAIRE
VOUS LAVER
VOUS JOUER
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NOUS DANSER

ELLES BOIRE
ELLES JOUER

VOUS PRENDRE
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L' IMPARFAIT: all verbs
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TU JOUER
ON BOIRE
TU AVOIR
ON AVOIR
TU ALLER
ON DANSER
VOUS FINIR
TU HABITER
VOUS AVOIR
NOUS ETRE
VOUS BOIRE
VOUS ALLER
ELLES ETRE

VOUS VENDRE

ELLES AVOIR

ELLES PRENDRE
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ON FAIRE

TU LAVER

TU FAIRE

TU BOIRE

TU DORMIR

TU VENDRE
NOUS AVOIR
ON PRENDRE
NOUS FAIRE
NOUS BOIRE
NOUS ALLER
ELLES ALLER
ELLES FINIR
VOUS DANSER
ON DESCENDRE
ELLES DESCENDRE
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